3agaHume Ne 13



Hayaure 3HAYEHHUE BHIPAKCHUSA

1. 35cos11”

7.
s1n 79° +

19

2. . v
c0s237° 4+ 1 4 cos? 53°



Hanaure 3HAUCHHE BBIPAKCHUS

3. 46tg7" -tg 83",

y, 9
4. /50 cos’ _7t — /50 sm2 "



Hanaure 3HAUCHHE BBIPAKCHUS

S.12sin11°-cos11°
sin 22° '

6. 24(sin*17° — cos?17°)
cos 34° |



Hayaure 3HAYEeHHUE BHIPAKCHUSA

7 36\@tg%sm§



Hayaure 3HAYEHHUE BHIPAKCHUSA

1. 35cos11”
I 4. 42
s1n 79° i

2. 1B 95
c0s?37° + 1+ cos?53°



Hanaure 3HAUCHHE BBIPAKCHUS

3. 46tg7° -tg83". 46

On 97r
4. Ocos2 Z /50 sm2
5



Hanaure 3HAUCHHE BBIPAKCHUS

S.12sin11°-cos11° 6
sin 22° '

6. 24(sin217o—c032170) 4
cos 34° |



Hayaure 3HAYEeHHUE BHIPAKCHUSA

7 36\@tg%sm§ 36



Caesarb BbIOOPKY KOPHEH HA 32IaHHOM

TNOMEAKVTEKA

1

cosX = (:sinx=— | 97/2; 67}
2

COS X = ﬁcosx — 3\/§[ 5“/2; 4“]
2 2
1

sinx = 0 ;tanx = — [ 3n/2; 3x]

V3



Caesarb BbIOOPKY KOPHEH HA 32IaHHOM
[IPOMEKYTKE

cosx=0 sInx= ﬁ
| 97t/2; 6]

OtrBer: 911/2 5 111/2 5 1911/4



Caesarb BbIOOPKY KOPHEH HA 32IaHHOM

IPOMEKYTKeE
V3 3vV3
COS X = 7 COS X = >

| 57t/2; 4]
OTtBer: 2311/6



Caesarb BbIOOPKY KOPHEH HA 32IaHHOM
[IPOMEKYTKE

sinx=0; tanx = —
V3
| 37t/23 37y

OtBer: 31 ;2nm; 13n1/6



1. a) Pemiurh ypaBHeHUs
V3 — 2cos(m/2+x) = 8sin(x/2)cos(x/2)
0) Ha orpeske | 7m/2; 9n/2]

2. a) Pemiuth ypaBHeHUSA

2sin2x + cosx +4sinx+1=90

0) Ha oTpe3ke [57‘t/ 2; Tt/ 2]



3. a) Pemiuth ypaBHeHUS

tg’x — 2\/3tgx +3cos*x = -3cos*(x-m/2)

0) na orpeske | 473 117w/2]

4. a) Periuth YypaBHEeHUSA
1/sin’x = 1/(tgx) +1
0) Ha oTpe3Ke [-57‘5; -4717]



5. a) Pemuuth ypaBHEeHUSA

2log2*(sinx) — Slogz(sinx) — 3 =0

0) Ha oTpe3Kke [-3717; -3t/ 2]

6.a) 8 — 9. 21 + 25X = ¢
0) [log52; log52o]



7. a) Pemiuth YypaBHEHUSA

2sin’x + sinx cosx — 3cos*x =0 ;

6) na orpesxe | 7w/2 3 3m/2]



